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-

Section : Section A

Q.1 Uek Ul & §AHITR A A S Y & HfaRie 6 0 31k 3 0 § 31k 98 myfed & Fer 12 A Y umr
dar 21 3 0 ufadty @ gl e arr 6 o fifsigl

Ans X A 4A
o B.8A
X C.2A
X D.1A

Question ID : 630680774858
Status : Answered
Chosen Option : B

Q.2 FEY F9Ie 2022 - 23 F TS HIHAI & HATTT <kt 25,020 1S @ 31fdeh o1 gote amefea
foram w1 o ende A=fafEa A @ fora aisrm & fore a8 forar war ar?

Ans X A ti-aftes sEgiy
" B. uTfifep udfes Ay
X C. wieret faehre ua sirshifaent Fierme
X D. Ut #fge segi

Question ID : 630680170393
Status : Not Answered
Chosen Option : --

Q.3 W9 d1eR A WRT fhel R aheatt foham o1 a« fA=faf@a d @ deie & Uah 92 9RT &1 Ta=R i A41?
Ans X A. ssTieH @Y

& B. Rz

X C. ReareR wat &

o D. 3lad @ At

Question ID : 630680333531
Status : Not Answered
Chosen Option : --




Q.4 fr=faf@a su=t h g a1 orad & wu # uga= RifSgl
hYd 1:
UPS # fREarRI &1 IuaiTT ueamaed! 9RT (AC) §979¢ ol f® o (DC) # uRad= & forg farar smar
gl
YA 2:
UPS & a<ft a1 Suah fAe aieedr DC &t S=a aieedr AC 21fwh & uRafda s & fag farar siran
gl

Ans  F A HIA DT 1 TT &
X B.dhadpud2T0 8
X C.aMi O g
< D. 31 P s

Question ID : 630680774926
Status : Answered
Chosen Option : A

Q.5 ufak MOSFET 3fR BJT & T g1 <A WR IGBT i fafHin wiis & fag F=afaf@a 7 9 «i=-
T Y T4 &7

Ans X A GfaR MOSFET @ ¥geR 3R BJT & fmieR
7€ B. dfek MOSFET &R BJT & agaR
& C.feR MOSFET & FreieR ok BJT @ dgaR
2 D. dfak MOSFET &R BJT & fraar

Question ID : 630680774897
Status : Answered
Chosen Option: C

Q.6 TiEwHRR # e arsfEn & ufa &R or 9Rka aieear, wmufas aEfén  ufa R ww@-iRka
aieedr & sRTeR g1 wrafie ok eftaes arfEn & i st gm= qoriass H

Ans X A <1
W B.1
X c.o
X D.>1

Question ID : 630680774859
Status : Answered
Chosen Option: B

Q.7 Select the most appropriate preposition to fill in the blank.

It is washed
Ans X A above

X B.by
« C. with
#5 D. through

boric acid before being sent to the laboratory.

Question ID : 630680310192
Status : Answered
Chosen Option: C




Q.8 afk 1,100 =t A, B 3R C & ot 59 wehr aier s 8 fh A ok B & fewdi st srqura 1: 38
auT B 31 C & gl ot orgura 5 : 8 81 C 1 fawam @ RifSigl

Ans X A F500
X B. %400
X ¢ X700
¥ 0. 600

Question ID : 630680531143
Status : Answered
Chosen Option: D

Q.9 fr=faf@a syt fi g a1 s/ & v # uga= fifKgl
HYT 1:
R IS HI IUANT IRTG (RF) fheex & g o=t & forg foman s aeaar 81
YA 2:
R STTS T IUANT Tk Teret (LC) ulRu & enfRar st age™ & forg famar stran g1

Ans o A THIBIT TG
X B.had sy 1948
X C.ai sy s 8
X D.IaAhYT 2908

Question ID : 630680774876
Status : Answered
Chosen Option : A

Q.10

RO

ol

50

T @v Ry & yeitia afiuy, gl

Ans X A Tifee NOR @

«” B. NAND &=
< C.NOR@w
/X D. F=ites NAND &9

Question ID : 630680774914
Status : Answered
Chosen Option : B




Q.11

Ans

*

Qutput = HT3Z9C

]

feT v oRwy #F ofdwer e &9 & of=fea aar 22
2 A.NOR %
7 B.AND AT
2 C.OR%c
o D.NOT ¢

Question ID : 630680774902
Status : Answered
Chosen Option: D

Q.12

Ans

=

3

The given symbol represents:

75 A.N-channel enhancement type MOSFET
75 B. P-channel enhancement type MOSFET
#5 C. P-channel depletion type MOSFET

¥ D. N-channel depletion type MOSFET

Question ID : 630680774893
Status : Answered
Chosen Option: D

Q.13

Ans

fr=fafaa syl f g« a1 s & w9 d ugar= fifsgl
hYT 1:

feert$t & @i emsege DC 21fwh SR wgwh §99¢ AC 1<k & SrguTd & & & aReiva fran
STt 81

HUT 2:

31ef a4 RREart Y s1fdrera garar 46% g1

K AT FF I E

o B.FaRYT 1 T8
X C.HaapYT 290 8
75 D. 3l FyH S 8

Question ID : 630680774877
Status : Answered
Chosen Option: A




Q.14 Tg u A=faf@d ereel wR sneniRa &:
PUPIL LARGE TRAIN ORDER

TfE IR U 2AeE & Uge 18R i gera ‘G’ fora srar g, 9t F=fafea § 9 frest srefypf
3iTsht areg FAM?

Ans X A ORDER
« B. TRAIN
7 C.LARGE
< D. PUPIL

Question ID : 630680187835
Status : Not Answered
Chosen Option : --

Q.15 RS NOR @ & Prfafla § @ #ia-of fRfy 3 =t fide a3 a1 sror a3vi?
Ans A R=1,S=0

/X B.R=1,S=1

# C.R=0,S=0

/K D.R=0,S=1

Question ID : 630680774913
Status : Answered
Chosen Option: D

Q.16 BJT & forg ufkare faig &t R T91Q @+ &g sifafeh oR1 e A & g srils, gifeiwey,
yftfee? S araar Ga€) Iuhoi & IUNT <kl <RIT gl STTaT &2

Ans X A. faRor geies (diffusion technique)
2< B. IIIeT dkH1as (addition technique)
2< C. ¥epHUT deh-iten (transition technique)
o D. UfdQRUT aa+1a (compensation technique)

Question ID : 630680774891
Status : Answered
Chosen Option: C

Q.17 angf RAveH & fAg fRIT-UwT & ehTet & & fAT Geh uew A4 o1 ol fkar star g1 af
gYe AT 160 kHz &, @ AR fRTg-ueity & a1g engfa o ghfi?

Ans o A 20 kHz
75 B.80kHz
< C.40kHz
7< D. 160 kHz

Question ID : 630680774922
Status : Answered
Chosen Option : A




Q.18 gt ga<z srrseye S1fd & dt sHHT Has EHIfAd SHRUT T §t HehelT 82
Ans X A PWM IC & STl o

o B. 18 3% oqu & @it

X C. 5igd 3ifdieh g dieedr

X D. feaf fearsy & wrrsit

Question ID : 630680774925
Status : Not Answered
Chosen Option : --

Q.19 fAfeeria e CMOS it aRarR & fog sifderan ot emgir ___ 81
Ans X A 40kHz

7 B. 50 MHz
7 C.50kHz
o D. 40 MHz

Question ID : 630680774908
Status : Answered
Chosen Option: C

—
Q.20 Which of the following statements is NOT true for the B of a common emitter BJT?

Ans X A ltis also referred to as Hpg.
& B. It does not vary due to variations in the level of the base current!
X C.lIts value is high (about 100).

Z< D. Itis the current gain in CE transistor, calculated as a ratio of DC collector current to
DC base current.

Question ID : 630680774882
Status : Answered
Chosen Option: B

Section : Section B

Q.1 CE $fihrR # aiseye iR ye dicear h fla sreriear I
Ans X A.0°

X B.45°

X C.o0°

& D.180°

Question ID : 630680774889
Status : Answered
Chosen Option: D




Q.2 @1 Ak dR UR U= 3T &1 55% WST= UR 34X AW T 36% TIATeh UR T el g1 TfE ag AW
A 25,760 g2 AL g Arr-fAar &t &<t &, at ag arerar fra-t s @ @ ghfi?

Ans  # A.2,40,000
7< B.%2,20,000
7< C.%2,30,000
#< D.32,10,000

Question ID : 630680481176
Status : Not Answered

Chosen Option : --

Q.3 & e e d un-RAg (?) & UE R T 4= Efge?
15243548637

Ans o A 80

X B.83

X C.76

X D.87

Question ID : 630680523604
Status : Answered
Chosen Option : A

Q.4 fr=faf@a d @ siw-a1 a1 p-3A9 Hgfeg v MOSFET & g Vg VS I T fA=egor ahear &2

Ans L
XA i
W

G5

Question ID : 630680774894
Status : Not Answered

Chosen Option : --




Q.5 The ideal quiescent point on the load line of the BJT should be:

Ans

X A. beyond the saturation point
#X B. near the cut-off point

Z5 C. near the saturation point

«” D. the middle point between the cut-off point and the saturation point

Question ID : 630680774883
Status : Answered
Chosen Option: D

Q.6 Ueh ZIFHRIR T IMT¥EYE, YAI-<1S g1 UR 250 V & iR Re uferiees wits g1 R 39T siseye

Ans

200 V 81 iR & fRrgs= & orn fifsigl
X< A.10%

o B.25%
X C.18%
X D.15%

Question ID : 630680774864
Status : Answered
Chosen Option : B

Q.7
Ans

¥t & uy FRferces St ermmew &t 2021 &

25 A, g ama

X B. U™

o C. 1¢ MY Kepd & aTafre
X D. Mg & MeR

I gratEieTet o1 dde e

Question ID : 630680112007
Status : Not Answered
Chosen Option : --

Q.8 srefawn RReart # giawrdk fi et fEdiae aieear 100 V ¢ 81 3mseqe V. &t 1o Hifsigl

Ans

X A 8545V
o B.4483V
X C.60.6V
X D111V

Question ID : 630680774875
Status : Answered
Chosen Option: C




Q.9 fr=faf@a syt fit g a1 eraw & wu & uga= HifKgl
hYUA 1:
19 ZifSIer she-oiTth & & giar & at gifoieex @ sifq-saeur & uRanfera glar &1
hYUA 2:
gifoeR @ &1 IuTiT der 3R ue sRer uRuy # forar T &1

Ans X A Gl HUF T &
o B.IaA R 29T ¢
X C.FaThyT 1908

X D Fr g
Question ID : 630680774886
Status : Answered
Chosen Option: B
Q.10 wifesh & g5 R & 7= 7jue &t war ¥ 3 & fog @ =TT T 81
Ans o A TITHETR
X B. U8
X C. dhet
X D. iR

Question ID : 630680227895
Status : Not Answered
Chosen Option : --

Q.11 What is the state of the latch when the clock is low for the D-latch?
Ans X A Racing condition

«” B. Inactive state
#< C. Set condition
75 D. Reset condition

Question ID : 630680774916
Status : Answered
Chosen Option: D




Q.12

Ans

2000 |
s
o
4o0v |
—

T

few o 9ftwy garr = fr 7 For afea frae 82

X A.200a
«" B.800drc
X C.400am
#< D.100are

Question ID : 630680774857
Status : Answered
Chosen Option : B

Q.13
Ans

AR TTL R & srent foras faega sroea giar 82
7 A 40 mW/ie

2 B.20 mwW/ite
o C. 10 mW/ie
7 D. 50 mW/ite

Question ID : 630680774904
Status : Answered
Chosen Option: C

Q.14

Ans

fr=faf@a syt f 9@ a1 3/ & w®u d yga= fifsigl
hYd 1:

3ifrerg= UPS |t uahR & faeitsi & forg satam frega qRam uem awar @1
hYA 2:

3iieTs=T UPS it afiSeye ateedar Sl |g[ar 5% gl &1
XA FTAFIT 2T G

X B.aFidua g

o C.HhaA R 1 9T &

25 D. 3 U o &

Question ID : 630680774931
Status : Answered
Chosen Option : B




Q.15 [3B02];¢ i q2rera & uRafda ffSq
Ans & A [15106],
X B.[14186];
X C.[16116]1o
X D.[16926];

Question ID : 630680774901
Status : Answered
Chosen Option : A

Q.16 In case of JK flip-flop, when J = 1 and K = 0, what will happen in the next positive clock
edge?
Ans X A It will inactive the flip-flop.

/5 B. It will reset the flip-flop.
¥ C. It will set the flip-flop.
< D. It will race the flip-flop.

Question ID : 630680774918
Status : Answered
Chosen Option: C

Q.17 Select the option that can be used as a one-word substitute for the given group of words.
The study of dreams based on science
Ans X A. Perception
« B. Oneirology
< C. lllusion
25 D. Hallucination

Question ID : 630680467179
Status : Not Answered
Chosen Option : --

g
0V ‘I g 2 Ohm

REGISTOR = 9faxreues
A F TH F 399 = Siaius § uRT AT e

Ans  # A 10 amps
/< B.20 amps
/X C.5amps
/5 D.4amps

Question ID : 630680774853
Status : Answered
Chosen Option : A




Q.19 Tehet LED amet UPS & fAIQ, afe wrepter AR feeieh & 919 THeheR 1Tt g1 St g, af ag s
wear g fr |

Ans X A STRER 9T e fagd S8Te ol STt &
< B. UPS @&-317 GfeR IR & & 38T &
o C. 33 Y UfaR @ g7 3R 37erTieh et 81 H Ageayuf &t e o3 §
X D. Ritew g fard @e R we 3@T 8

Question ID : 630680774934
Status : Answered
Chosen Option: C

Q.20 fA=fafEd i f 9 a1 3/ & wu & ugaE HifSgl
Y 1:
A= 21k aret gifSieR smwdR wR waefa & sifaw aror & Iushr farg sira &1
YA 2:

I 2k a6t EIfSIER T IUTNT ATShIGI, U 83, TASIER IfE A Hohal ot uaef et & fag
forar SITaT 81

Ans X A S wuTa g
X B.dhadpyd2Ta 8
o C. 31 o s &
X D.dhaahyT1qa 8

Question ID : 630680774898
Status : Not Answered
Chosen Option : --

Section : Section C

Q.1 fA=fafaa sy=t f g a1 e/ & =0 # g fifsal
%Y 1:
3iTthetrad UPS & <9 AC (mains AC) &t R & o1 HTae™ giar g1
hYUT 2:
SiTheTs+T UPS @ foig, & AC (mains AC) & &hH dleedr 3R 3ifeh dieear & A |, ufar
giaw Q= afeha g1 Srar @ oik §7a¢R § U AC o s1seye 9 Sitsan 81

Ans X A FddHYT1TTE
X B.H wu T &
X C. gl o T §
o D. hadl Y 2 I8

Question ID : 630680774929
Status : Answered
Chosen Option: D




Q.2 fA=fafaa sy=t f g a1 e/ & T & ugaE fifsul
hYd 1:
s giforeR, Rfce gifSier f gear d R aowm @9 9 dgar ardf ad 81
Y 2:
TAREA (NPN) ZifSieRr &l 39 sRuT @ ude forar sirar @ aifes gadiga (NPN) & digadt (PNP)
&Y ger A sifdres fAf nfa gt 81

Ans X A GHipIATTE
X B oAy 1 T8
o C.HIARUT 29I &
X D. & Y 3 ga &

Question ID : 630680774879
Status : Answered
Chosen Option: C

Q.3 BJT o1 fAfeif@a & @ @i9-ar urae R @war g fok gifSieer B, g a1 3= o1fwh aren
gifee 8?

Ans X A lE(max)
X B. Vag(max)
& C. Vog(max)
o« D. lc(may)

Question ID : 630680774881
Status : Not Answered
Chosen Option : --

Q.4 o
L Q J e I Q J Q J
CP) cp CR| CP f#= input Puise
3 K a K g K g K
Input Pulse = $a9¢ I8
fos & F5, % e Fear B
Ans  # A5
X B8
X C4
X D.16

Question ID : 630680774920
Status : Answered
Chosen Option : A




Q.5 Select the most appropriate meaning of the given proverb.

A stitch in time saves nine.
Ans & A.ltis better to deal with problems immediately than letting them become bigger.

/5 B. It is necessary to work hard in order to make progress.
/X C.It's easier to win people by persuasion and politeness than by confrontation.

/5 D. Itis better to try to be happy than remaining unhappy.

Question ID : 630680292734
Status : Not Answered
Chosen Option : --

Q.6 3ief Atrer & fog & (carry) Fa T & fAg Iuai fRan ST arer g e wF-a1 82
Ans X A NAND AT

X B.OR7e

& C.AND AT

% D.NOR7e

Question ID : 630680774910
Status : Answered
Chosen Option: C

Q.7 fr=fafEa & 9 forg AifSie Ae & sifderaw d=rRur fasia 954 (propagation delay time) giar 82
Ans X A CMOS fiferia e

X B.TTL sifedhr e

& C. CMOS #iea e

75 D. TTL 4 i<k 2ifeeht e

Question ID : 630680774903
Status : Answered
Chosen Option : A

Q.8 JK AR W4 fRe1u-ueity & AR fRig-uety ok Wia fRmu-u=itg & ol & forg fafafaa
# @ hi9-91 Y9 94 87

Ans o A TR foT0-UeiTg OifSifEangs TR gidn 8, wia foeiu-uity A7ifed oot f&TR (negative edge-
triggered) gl 81
X B. AR fRTU-w=iTT 9k e fRTu-weita @Y e oot o g &1
X C. e fRTg-weity e got fooR gl 8, i fokry wedto uifSifea oot iR gt &1
& D. AT fRT0-viTy 3R Wia feru-ueity g1 aifSifed oot iR (positive edge triggered) g1 &1

Question ID : 630680774919
Status : Answered
Chosen Option : A




Q.9 fr=faf@a syt fit g a1 eraw & wu & uga= HifSgl
hYUA 1:

URTSE TR TIAHEIER & R Y AT T Tt 51 Fandti
hYUA 2:

TR R ZAWHTHR & fAT K a1 719 19T 1 & SRIeR &1

Ans o A THI HYF T §
X B.dhadpuI2Ta 8
X C.ai O g

X D.dhad YT 1 a8

Question ID : 630680774862
Status : Not Answered
Chosen Option : --

Q.10 o
. Q-:]Q: /I; =
B Q: h F —
).
( % )a: ( i—% Jo
=

s o 7 w2fifa CMOs #ifers gamr wifsa argarge i &1 sga= AT
Ans X A NORTe

< B.NAND e

# C.AND e

& D.ORE

Question ID : 630680774909
Status : Answered
Chosen Option : A

Q.11 Ueh STHIS ZRT g1 Y ST Hehnt arelt SifSehas Zgehd aleedr T shgerlel &2
Ans X A. ¥iSH dieedm

X B. Aefi dicear

X C. deriar ateedr

o D. uchiu R gteean

Question ID : 630680774871
Status : Answered
Chosen Option: D




Q.12 W-3AGEH TFU RIS BY127 #, gar iR Y aeang fhag g 21

XA 75 kQ + 10%
X8 75 MQ + 10%
Xc 75 kQ + 5%

¢ 0. 75 MQ + 5%

Ans X A SFREERE
o B. REaRI erite
X C. Rz 3EtE
X D. &I s/itE
Question ID : 630680774873
Status : Answered
Chosen Option : B
Q.13 10W
[ wooema
I -
What type of resistor is shown in the above figure?
Ans X A. Carbon composition resistor
X B. Wire wound resistor
X C. Metal film resistor
& D. Ceramics type resistor
Question ID : 630680774852
Status : Answered
Chosen Option: D
M qr a1
% iaus # 4-d5 Fo FfS e, g, A A g g1 sioius F A # o S
Ans

Question ID : 630680774849
Status : Answered
Chosen Option: D

Ans

X A T WIRE &ie
«" B. T 31y fther
X C. o fRiforenta am
X D. T ddherrse feu

Q.15 gz atdl ok gephifaaw €effie g & i Frafafe@a 9 @ @i=-dt annft sref st 82

Question ID : 630680774899
Status : Answered
Chosen Option: B




Q.16 IFATE hi Y I A oAl i g & 35 avf oifder &1 15 aef ave I7hT 3y 1 SiguTa 15: 8
ghm i et Y aetar o (ad ) foRash &2

Ans X A.20
& B.25
X C.22
X D.24

Question ID : 630680756609
Status : Answered
Chosen Option: B

Q.17 fA=fafEd syl f 9 a1 3/ & wu & uga HifSgl
hYd 1:
R TR & SAHRR ATUE 9 @ diceet 3R UleaR SrahrR & &9 & Iuaht fhg sird g1
hYT 2:
R UhR & SHHER I g 7 2T TR & ciawrR 6 gemar sifden gidt 21

Ans o A FAARUT2 T 8
X B.a weTd &
X C. 3 weF e 8
X D.FaT R 1 I8

Question ID : 630680774863
Status : Answered
Chosen Option: B

Q.18 IR Fi 3R g 25 =il Y gak dfes d, #iR1 ¥ SR T 189 w= wR A6} g1 af S, wdi=r
& el @ 3ed W R A6Y 2, at ufth & 9 SR @ fu1 o T e @2

Ans X A 127
o B.167
X c.157
X D.107

Question ID : 630680361850
Status : Answered
Chosen Option: C

Q.19 axerar uren (liquidity trap) & R # Rfaf@a & @ &9 a1 &y 9t 82

Ans X A 39 fF & RM, IUNIRHT AT STHT @1l § ¢FRIRT T8l 3@d &1
75 B. IJUMIHI Tehe STHT a1 i SR 311 T aTet FasT fdched hY IermeT ad 8l
o C. e i 59 R & R morreht 7 gt 81
25 D. 59 ff7 & IR, =11 & aga 1fdens gicft § SR s=ra & & gielt 81

Question ID : 630680218410
Status : Not Answered
Chosen Option : --




Q.20 sEYH T & He A FffRa A dFa-d Fu ad &
A. 51T T} Y forsara & i ut & A @ ST ST @1
B. STETYA -TE} &l TEATST | STHAT o A9 & ST STt 8
C. feari ok wife staTq 4t & weraes et €1

Ans X A &aeB 3R C Tt g
X B.aaaAsRCud
o C.ABIRCTEE
X D.dhacT ASRB TG §

Question ID : 630680536517
Status : Answered
Chosen Option: C

Section : Section D

Q.1 [45],( = st F uRafda fifSg
Ans X A.[100010],

" B.[101101],

X c.[101011],

X D.[100011],

Question ID : 630680774900
Status : Answered
Chosen Option: B

Q.2 Which of the following combinations can be used for a 2-bit parallel full adder?
Ans  &* A Two half adders and one OR gate

Z5 B. Two half adders and one Exclusive OR gate.
Z5 C. Two half adders and one AND gate
75 D. Two half adders and one Exclusive NOR gate.

Question ID : 630680774911
Status : Answered
Chosen Option : A




Q.3

fZT 77T afimy & BT Bge F HA 100 3R Vpe F 7 0.7 V @7 T TART & | H 70w FiEw)
Ans X A 10.7mA

X B.3.3mA

o C.2.5mA

< D.9.26 mA

Question ID : 630680774885

Status : Answered

Chosen Option: A

Q.4 fA=fafaa sy=t f g a1 e/ & T & ugae fifsul
hYd 1:
31fAehizr AR TTL IC ot Sk @ uR=nfora @A & fAg +4.75 V 3R +5.25 V & it farsreft emgfe
aleedr Y smagedr gidt 21
YA 2:
AT TTL URaR & IC Y ugam= 54 @ 7 g7 a1t Rl & Y Sl @ ofik =g Rifader & fAg,
IUHRUTT Y Uga 74 A R g a1t Ha=i Y et g1

Ans o A FIAFRUT 1 T8
X B.g we o §
X C. gl ®YF o &
X DdhaahYT2Ta 8

Question ID : 630680774907

Status : Answered

Chosen Option: B

Q.5 g Us fidsl u' q&des & at@eh 599 § i 82
Ans X A. STATER A A5

X B. grarrs ARiSh

X C. mgraar e

o D. STft. 3R, srlgeny

Question ID : 630680318900

Status : Not Answered

Chosen Option : --




Q.6 T UTH I 24P o IHThR T 81 I FaTE 16 CM g 3R 59F Tt A R B=ar 12 cm g1
SHH AGTerd UTHT 9RT T 81 519 S1e-81e 2igp, 5= @ udes &l Brsar 2 CM iR =g 4 CM g,
ot # fiR1g 5114 €, &Y urit o1 ute-sedl Wi aTeR a8 STat g1 ur | fR1G g Sie-sie 2iget fi
Tt fhat 82

Ans X A.72

7 B.9%
& C.90

X D.84

Question ID : 630680368867
Status : Not Answered
Chosen Option : --

Q.7 uRRmEfier I wrefEn dudh &1 Iuaht @ aRad-ta aleear sitRem & fog Aafaf@a d
@ fohe iaRRiR a1 IuahT T ST Sehat g2

Ans o A Sifc) TIBIER
X B. VU SR HHER
X C. VU 3 TR
X D. ST SIhIHR

Question ID : 630680774866
Status : Answered
Chosen Option: D

Q.8 Tf foreht amgen i ueeh shnieh= Ut JIS TSU IS # 2SB364 ¢, atag &l
Ans X A pnphf

< B.npnf

25 C.npn hf

& D.pnp If

Question ID : 630680774874
Status : Not Answered
Chosen Option : --

Q.9 Which of the following conditions are true for a properly biased or correctly biased
transistor?

Ans X A. Base-emitter junction is reverse biased and base-collector junction is forward biased.
o B. Base-emitter junction is forward biased and base-collector junction is reverse biased.
Z5 C. Both base-emitter junction and base-collector junction are forward biased.

Z< D. Both base-emitter junction and base-collector junction are reverse biased.

Question ID : 630680774884
Status : Answered
Chosen Option: B




Q.10 FA=faf@a & @ -3, UPS & Ueh gesh gl 87
Ans X A TR

X B. Rt ciom few

o C. AT s

X D. Reart

Question ID : 630680774927
Status : Answered
Chosen Option: C

Q.11 Choose the most appropriate proverb to substitute the underlined segment in the given
sentence.

be their true nature.
Ans X A everyrose has its thorn

& B. all that glitters is not gold
/X C. early bird catches the worm

/X D. an apple a day keeps the doctor away

Question ID : 630680153855
Status : Not Answered
Chosen Option : --

Q.12 Ueh ATSHIAA STHGBER o1 deedr U, ____ giar gl
Ans X A2

o B.1

X C.05

X D.4

Question ID : 630680774865
Status : Answered
Chosen Option: B

Q.13 =1f*F MOSFET & foIq grza uRufdh ol gfia & & g ek w Pafaf@a 7 @ e
SRR 1 I faRar STrar 82

Ans X A YRT THHEHR
< B. faurg ciamrR
o C. Ta gawrR
X D. sifel gk

Question ID : 630680774895
Status : Answered
Chosen Option: D




Q.14 U@ ufaR iR & Np & 400 B 3 Ns & 40 B8R & sra urafies ateear 440 V &, aa s
aleedr (Vs) i o fifsgl

Ans o A44V

X B.440V

< C.4400V

< D.240V

Question ID : 630680774860
Status : Answered
Chosen Option : A

Q.15 %ahd UBR & dR # fAfaf@d d @ &l9-91 = o/ 82
Ans X A TR SR HI0T, USR i I ARt &

+# B. U8 USR "Hal & IR H oh AIATRR -1 &

X C.UBR & qd # wgreq ok 3z ugifsar g1

X D. GaYeT ydaHTel USR & IR A g

Question ID : 630680511318
Status : Not Answered
Chosen Option : --

Q.16 Identify whether the following statements are true or false.

Statement 1:
Wire-wound resistors can withstand high temperature, and still maintain the exact ohmic

values.

Statement 2:
Wire-wound resistors can be made to have fractional ohmic values, which is not possible in

carbon composition resistors.
Ans  # A. Both the statements are true

/X B. Only statement 2 is true
/X C. Both the statements are false

Z5 D. Only statement 1 is true

Question ID : 630680774851
Status : Answered
Chosen Option : A

Q.17 ug u Fafaf@q ereel ur smenfRa &:
SPACE ROUND TITLE MATCH

Tf IURITH WA 25 1 UG 31&R ger i wiran &, at Frafafaa & & e srefypf sish o
Fm/aAT?

Ans X A &ad TITLE 3R ‘MATCH’
< B. %hae ‘ROUND’
< C. Faet ‘MATCH'
o D. &hadl ‘SPACE’

Question ID : 630680187834
Status : Answered
Chosen Option: D




Q.18 fA=fafa@a syl i 9 a1 3/ & Fu & uga™ hifSgl
hYd 1:
fAroe Ifeex g TuT IWiweR g Sl foew & e o aeet 9T o1ue dhée ot otuet ofie fAe ar
TIOH et | gem g
Y 2:
faroe ISz RS, JK a1 D fRTU-U=ATa <hT IUTRT sheeh a4 ST Sk &1

Ans X A HadHYT1TTE
X B A py 2T 8
X C.ai sy s 8
o D. A R T E

Question ID : 630680774921
Status : Answered
Chosen Option: D

Q.19 af¥ 10-are ufeRiye W Uy aleedr 20 diee 8, e uRvmaeeasy ufeRius § 0.2 amps grT
I gidl g, @t ufediue grr ail@a e @it

Ans X A 10dre
o B.4dwE
X Cc.8awe
X D.5dr

Question ID : 630680774850
Status : Answered
Chosen Option: B

Q.20 8-fae ASCII Tis & a1y fAEaTiRa ASCII 3ot | foha= ez &2
Ans X A 255

X B.128
X c.127
o D. 256

Question ID : 630680774906
Status : Answered
Chosen Option: D

Section : Section E




Q.1

Ans

fr=faf@a syl f g« a1 s & w9 d uga fifsgl
hYUA 1:
IWAME MTUR IAHRR T 57Ye uferte aga oifer (100 kQ & aifdrr) giar a1
hYUA 2:
IV YR TARRR Sifdihar 3= gl srguaii & forg Sugsh gl &1
X A ST eI I g
X B. gl o 3 qa §
o C.HhIARUT 29T &

X D.dhadhYT 1 qa 8

Question ID : 630680774890
Status : Answered
Chosen Option: C

Q.2 80,120 3% 24 0 A aret &1 ufaeiy Soft o7 7 2 ¢ &1 g ufesty 79 Q)

Ans X A.11Q
X B.220
X C.4Q
& D. 440
Question ID : 630680774854
Status : Answered
Chosen Option: D
Q.3 fA=faf@a & @ w19-31, 3-thsT UPS & srdugef[ & fag fafRdan & @ vas a8l &2
Ans X A f@gsieR asq
X B. 31¢f s R HersH
o C. [ I8 W Fersd
< D. guf &g W FerzH
Question ID : 630680774935
Status : Not Answered
Chosen Option : --
Q.4 U seifaeeh gtex &Y A& 500 W, 100 V g1 giféer gefidie o ufaRter sima HifSial
Ans X A.50

X B.40Q
o« C.200
X D.100Q

Question ID : 630680774856
Status : Answered
Chosen Option: C




Q.5 fr=faf@a syt ft g a1 eraw & w®u § uga= fifSgl
hYd 1:
Teh aR 519 fafereri= srats & forg err ateear 0.3 V & U I« SITel &, af a8 a1 = & &
gl
YA 2:
He-39 dleedl & HUR, S ATATT SIS T Uk Feitos [T il aRg SagR HRar &1

Ans X ASisuaad
o B.FaA R 297§
X C.ai sy s 8
X D.haa sy 1908

Question ID : 630680774870
Status : Answered
Chosen Option: B

Q.6 TRt Afifa & srafaa= | dfehn &= 6 o syfaer gt 82
Ans X A ST & uer w0 9 ISty Aifa RefRa ofk gemaifea aar 81

o B. 3% P TUE 3R BRI T Tfd TRHR & ASTehv TaTe H Tgraar ahid g
25 C. SfhT &5 haet TR ISThIS Hifd Y Tgraar e & g o1 UgH &ear g1
X D. TSTeRisg i & dent i i fient 8T 8, T8 I avE T TR B SHfARR-8 1

Question ID : 630680595456
Status : Not Answered
Chosen Option : --

Q.7 Which of the following amplifiers is most suitable for impedance matching?
Ans X A. Common emitter

/X B. Common base
& C. Common collector

/X D. Emitter feedback

Question ID : 630680774887
Status : Answered
Chosen Option: C

Q.8 f2fSee sy Sd fAfRT uRuy & foFy werR & srits w1 Iuahr fwar smar &2
Ans X A. 3ifafRh 3=a 1<k s/@is

/< B. g A1f<h s/iS
X C. 3= Uk s/E
o D. 7 i<k srate

Question ID : 630680774872
Status : Answered
Chosen Option : A




Q.9 fr=fafEa # @ wiv-a1 = fRg-uera ok A= & i a8t siar &2

Ans X A TRIO-URATT a1 TS & 1 d  STalich ofd oA TS & &1 hd ¢
75 B. ftRIU-T=iTy ot oA fgId el STTa=dehl BIdT & STafch oid bl 3119k faed i sTaaehd gl g
X C. TTRIT-UATT STeachlicich URTTE Shed & STaich ofd gedehlieleh URETeld ahd &
o D. ftR0-UiT0 QoT-fTR gl € Staifeh o chaet-fgmR 8id €1

Question ID : 630680774915
Status : Answered
Chosen Option: D

Q.10 Fr=fafEa & @ fora dafSi o1 suahn BJT & g aga S=a sngfar srgumiil ofk g=a arow=
foR¥=ar & o forar sTar &2

Ans o A RRfAe dafSim
X B. Heet GahfoiT
X C. A gl R & a1y winfes danfoi
X D. wiifen gehfSiT

Question ID : 630680774878
Status : Answered
Chosen Option : A

Q.11 When P and N materials are put together, at the junction of P and N materials, some
electrons from the N-material jump across the boundary and recombine with the hole near
the boundary of the P-material. This process is called:

Ans X A. dipole movement
& B. depletion
/X C. diffusion

25 D. exclusion

Question ID : 630680774869
Status : Answered
Chosen Option: C

Q.12 fA=fafEa 9 @ #19-a1 s @it 8421 BCD s & Iuai g forar sirar &2
Ans X A 0111

2 B.1000
2 C.0000
& D.1010

Question ID : 630680774905
Status : Answered
Chosen Option: D




Q.13 19 BJT oT STTUR AT §I4T 8, al Iedsien SR Hutgeh fie & = uferiy

ghmi

Ans o A T
X B.g
X c.fm=
X D.aga =
Question ID : 630680774880
Status : Answered
Chosen Option : A
Q.14 s
Ry Rg
Croum
?chnr SR i
Vour /7
Via"™ ;:gwmz R " ]‘ Cy é:usrwnt
SINE WAVE = =31 a3t
feT a7 BJT #,R,= 10 kQ, R, = 5 kQ, Rg = 40 0 3T p =100 gl
$9C Sfcrarar & T HfST
Ans X A 1.2kQ
X B.2.2kQ
& C.1.8KkQ
% D.2.8kQ

Question ID : 630680774888
Status : Not Answered
Chosen Option : --

Q.15 Which of the following gates are normally used in digital comparators for comparing their

Ans

respective pairs of bits?
25 A.NAND gates

/X B.NOR gates
X C.Exclusive-OR gates

&” D. Exclusive-NOR gates

Question ID : 630680774912
Status : Answered
Chosen Option: D




Q.16 i $far srardw (Fiw FarEd sitw $f3an i gar uge) a2 gara-ide gt (5-7 S 2023) &
IY-91Y YR & fAfaf@a d @ fora agr @ smafaa forar mar an?

Ans X A R
X B.gETE
o C. 7S et
X D. 7w

Question ID : 630680350901
Status : Answered
Chosen Option : A

Q.17 &A1 7146532 § ek 3ich hl a18 @ 218 STRIE) e A cgafya faam Sirar &1 e de=ar 6 g
# foha sl i fRAR(TT) saRafda w@il/@ e

Ans X A&
' B.T%
X C.ue oft i
X D.d=

Question ID : 630680542539
Status : Answered
Chosen Option : B

Q.18 fA=fefEe syl Y I« a1 3y & w0 & g fifSigl
hYT 1:

MOSFET #, 9R¥ STS3iTeRATSS ahT IUTIT gifoIeer & Nt sk Gemge F fa g AN wa d wu &
foram STrar 81

YA 2:

CMOS SRR art MOSFET &, dvaret fARIT & @R wgeayuf Rrereht 6t @ua @i 8, 7 s
gies SEaT d gla W

Ans X A FadRYT1ITE
o B.HhIARUT 29T 8
X C. 3l o o &
X D Fraad

Question ID : 630680774892
Status : Answered
Chosen Option: C

Q.19 Select the most appropriate article to fill in the blank.

Being only M.A. in Political Science, he could not be appointed to the position of a
Professor in the university.
Ans X A the

#X B. No article required

& C.an
X D.a

Question ID : 63068084728
Status : Answered
Chosen Option: B




Q.20 P, Q 3R R, Uk SATET™ [ et &1 afE Ik fFder Fit srafd &1 srqurea 4: 6 : 9 @ o 91k o
T SIgUTE 2 : 3: 5 8, @t P, Q 3R R &Y 4=t a1 srgure @i RifSigi
Ans X A.9:6:10

X B.6:9:10
" C.9:9:10
X' D.10:9:9

Question ID : 630680530316

Status : Answered

Chosen Option: C




